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s 5,903,000 5,903,000 0
] 757,756 584,672 173,084
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= 348,060 348,600 A540
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| 757,756 584,672 173,084
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| 657,756 584,672 73,084
= 328,878 292,336 36,542
308 XX € HI S 0| & 986,634 877,008 109,626
J| 657,756 584,672 73,084
= 328,878 292,336 36,542
R EEEE S 986,634 877,008 109,626
oHICIE#Z N0l X 986,634 877,008 109,626
o] 657,756 584,672 73,084
= 328,678 292,336 36,542
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o] 30,000 0 30,000
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308 XXM SO A 538,000 0 538,000
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= 538,000 0 538,000
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01 SLHOIYI 2,550 3,000 A 450
Ol X 4z d2FA 2,550 3,000 A 450
HEMEFL0IE MRE HEXNA(Z1) 79,063 68,281 10,772
= 79,063 68,281 10,772
308 MXIEHSOIH 79,063 68,281 10,772
= 79,053 68,281 10,772
01 HXNHHNBHEELS 79,063 68,281 10,772
ONENEFTAOISE MEEHE MEXE 79,053 68,281 10,772
= 79,053 68,281 10,772
==& ZI 2 XA (=1) 100,000 0 100,000
= 100,000 0 100,000
403 AXEHHS =0l A 100,000 0 100,000
= 100,000 0 100,000
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oRzdi==% QHEE 100,000 0 100,000
= 100,000 0 100,000
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A 327,600 327,600 0
< 0,200 12,000 A1,800
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A 327,600 327,600 0
< 0,200 12,000 A1,800
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sorey o e 139,000 139,000 0
2 139,000 139,000 0
soregy oo 139,000 139,000 0
2 139,000 139,000 0
SIIB NLOR SYXAOISHH)(2D) 139,000 139,000 0
2 139,000 139,000 0
201 et A H| 110,000 115,000 5,000
2 110,000 115,000 A5,000
01 AL 22l bl 65,000 70,000 5,000
ooy YL 65,000 70,000 5,000
2 65,000 70,000 5,000
202 01t 29,000 24,000 5,000
2 29,000 24,000 5,000
IENTT 29,000 24,000 5,000
082y YL 29,000 24,000 5,000
a 29,000 24,000 5,000
BHS YA (HY SO D) 46,039 56,289 £10,250
o= 46,039 56,289 £10,250
SN2Y =P 46,039 56,289 £10,250
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